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inorder(node) N
if (node = null) return (F)
inorder(node.left) o
visit(node) // \/ .
inorder(node.right) ‘B q
N /\
N X
s
(C) ‘7
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inorder(F) inorder(B) inorder(A)
if (F=null) return if (B = null) return if (A=null) return
inorder(B) inorder(A) inorder(null)
print(F) print(B) print(A)
inorder(G) inorder(D) inorder(null)
inorder(D) inorder(C) inorder(E)
if (D =null) return if (C =null) return if (E =null) return
inorder(C) inorder(null) inorder(null)
print(D) print(C) print(E)
inorder(E) inorder(null) inorder(null)
inorder(G) inorder(l) inorder(H)
if (G =null) return if (I =null) return if (H=null) return
inorder(null) inorder(H) inorder(null)
print(G) print(l) print(H)
inorder(l) inorder(null) inorder(null)
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iterativelnorder(node)

s < empty stack

while (not s.isEmpty()
or node # null) i

if (node # null)
s.push(node)

node < node.left ‘ b\] ( |n
else N X N
node < s.pop() (/ (/
visit(node) e c E\\“ ()
node < node.right o/ N4 O/
while (...) while (...)) while (...)
if (F # null) if (B # null) if (A # null)
s.push(F) s.push(B) s.push(A)
node - B node — A node < null
Stack:F Stack:FB Stack:FBA
while (...) while (...) while (...)
else else if (D # null)
node < s.pop node < s.pop s.push(D)
print(A) print(B) node «~ C
node < null node <D
Stack:FB Stack:F Stack:FD
while (...) while (...) while (...)
if (C # null) else else
s.push(C) node < s.pop node < s.pop
node < null print(C) print(D)
node < null node -E
Stack:FDC Stack:FD Stack:F
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iterativelnorder(node)

s < empty stack

while (not s.isEmpty() N
or node # null) ' B

if (node # null) < S
s.push(node) -
node < node.left ‘D C)
else N/ N
node < s.pop() / \5 /(/
visit(node) o) () “ \‘
node — node.right \C} J \[E J \|j| J
while (...) while (...) while (...)
if (E # null) else else
s.push(E) node < s.pop node < s.pop
node — null print(E) print(F)
node < null node -G
Stack:FE Stack:F Stack:
while (...) while (...)) while (...))
if (G # null) else if (I £ null)
s.push(G) node — s.pop s.push(l)
node < null print(G) node - H
node «|
Stack:G Stack: Stack:l
while (...) while (...)) while (...))
if (H # null) else else
s.push(H) node — s.pop node — s.pop
node < null print(H) print(l)
node —null node —null
Stack:IH Stack:| Stack:
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